
Área de forma total = 202.88 m²

Vol. de concreto total (C-30) = 0.6 m³

Vol. de concreto total (C-20) = 9.5 m³

276.5

1021

CA60

CA50

PESO TOTAL

276.5

8.8

235.1

777.2

1630.6

5.1

221.9

1146

5.0

16.0

12.5

10.0

CA60

CA50

(kg)

PESO + 10 %

(m)

C.TOTALDIAMAÇO

Resumo do aço

VARVAR416.033

1108277412.532

VARVAR612.531

33283412.530

VARVAR4012.529

VARVAR2412.528

143263773812.527

30881931610.026

2142357610.025

VARVAR1410.024

VARVAR610.023

VARVAR1410.022

VARVAR410.021

46021772610.020

VARVAR610.019

VARVAR2210.018

1876672810.017

37922371610.016

41521732410.015

99124132410.014

6635237717610.013

VARVAR11810.012

VARVAR1610.011CA50

92829325.010

308088355.09

4480128355.08

4760136355.07

2726845.06

10234861195.05

3565231555.04

16128961685.03

9108233965.02

1105047614545.01CA60

(cm)

C.TOTAL

(cm)

UNIT
Q

DIAMNAÇO

P45

P44P43

P42P41

P40P39

P38P37

P36P35

P34P33

P32P31

P30P29

P28P27

P26P25

P24P23

P22P21

P20P19

P18P17

P16P15

P14P13

P12P11

P10P9

P8P7

P6P5

P4P3

P2P1Térreo:

P49P48

P47P46Barrilete:
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